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Bestimme jeweils die Ableitungsfunktion - Losung!

f(x):sin(%f) > f'(x):cos(%)f)-x2 = x’ cos(%x3)

k(x)=(1—5x2)3 > k'(x)=3-(1—5x2)2 (=2sx)= —6sx-(1—x2)2

) =A2ke > 1(0)= 2\/;@'%: Jz%

m(x)=sin’x > m'(x)= 2sinx-cosx

f'(x)=cos2x-2-x+sin2x-1= 2xcos2x+sin 2x

g()=(x=1 > ¢'(x)=5(x-1)"

()= o Cos 2kx 2k —sin2x _ k- cos 2kx —sin 2kx

2 2
X X

k'(x)= 2x(x2 — 4)2 +x7 2()62 — 4)~ 2x= 2x(x2 — 4)~ (x2 —4+ 2x2)= 2x(x2 — 4)- (3x2 — 4)

l’(x): (x2 +3)2.18—18x-2(x2+3),2x _ (x2+3)-18—72x2 _ 545452
3] (+3f ]

m’(x)=cos2x” -cos2x* - dx + (— sin 2x° ) 4x-sin2x* = 4x- (cos2 2x> —sin’ 2x2)

f(x)=2(2ax+2)-2acos x + (2ax + 2)2 (—sinx)= (2ax+2)- [4a cosx — (2ax +2)sin x]

g'(x):z.(tzj_ (1-x)1-(+2)- (1) 20+x) 1-x+1+x _ 4(1+2)

(1-x) (=% (-2 ()

n(x)= —sin(x2 —4)~ 2x-x° +cos(x2 —4)~ 2x—cos(x2 —4)- 2x=—2x" -sin(x2 —4)

k'(x)=10xcos L x + sz(— sin%x)% =10xcosLx—x*sinLx= x(lOcos%x— xsin%x)

A2
I'(x)= 2 2 2x 2x =N 2y oy ox = 2x D4 f2x 2= 2,5 2x
24/2x 2x 2 _—



